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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.
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SEAT No. :

Q1) A) Fill in the Blanks (Any 5) [5]
a) The report is always written in _______ manner.

i) Sequential
ii) Irregular
iii) Horizontal

b) ________ report is an official report that contains detailed
information to make business decisions.
i) Formal
ii) Informal
iii) Press

c) Leading platform for video sharing is ________.
i) YouTube
ii) Google Classroom
iii) Google Sheet

d) _______ is popular cloud-based video conferencing tool.
i) Zoom App
ii) LinkedIn
iii) Twitter

e) Complaint Letter should be called as _______ letter.
i) Claim
ii) Sales
iii) Inquiry

P.T.O.
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f) An Internet is _______.
i) Programming Language
ii) Network connecting computers all over the world
iii) Computer Programme

B) Match the following. [5]
Group ‘A’ Group ‘B’

a) Mark Zuckerberg i) Circular Letter
b) Electronic Mail ii) Request to collect

information
c) Pamphlet iii) Facebook
d) Enquiry Letter iv) WhatsApp
e) Jan Koum v) Email

Q2) Write short notes(Any 2) [10]
a) Credit and Status Enquiry Letter.
b) Blog writing.
c) Formal Report
d) Face book.

Q3) a) What do you mean by ‘Report’?Explain in detail Essential elements of
Report writing. [8]

b) What do you mean by ‘Social Media Network’? Explain in detail about
‘Zoom App’ and Google Class Room’. [7]

Q4) a) Write an enquiry letter to M/s Shubhangi Furniture, Pune regarding
requirement of office furniture. [8]

d) What is ‘Mail’? Explain in detail ‘essential elements of mail’. [7]


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Q1) a) Fill in the Blanks. (Solve any 5) [5]

i) Profits earned by the subsidiary company before the date of
acquisition by holding company are called as_________.

(Capital profits, Revenue Profits, Net Profit)

ii) When a new company is formed to take over the business of a
liquidating company it is called as_______.

(Amalgamation, Absorption, External Reconstruction)

iii) Winding up of a company by an order of a Tribunal is called
as_______

(Compulsory winding up, Winding up under the supervision of the
court, Voluntary winding up).

iv) AS 21 stands for________

(Amalgamation / Consolidated Financial Statements / Property Plant
and Equipment).

v) _________ utilizes accounting. auditing and investigative skills to
conduct an examination into the finances of an individual or business.

(Forensic Accounting, Management Accounting, cost Accounting)

vi) In absorption,_________ account is credited with the amount of
purchase consideration.

(revaluation, realization, profit and loss)

vii) Every person who is liable to contribute towards the assets of the
company on the event of its being wound up is called as_______

(Contributory, Creditor, Debtor)

P.T.O.
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b) State whether the following statements are true or false. (Solve any 5) [5]

i) If the value of ‘investments in subsidiary’ in the holding company is
more than the book value of the net assets acquired, the difference
is called as Capital Reserve on consolidation.

ii) Minority Interest is the proportion of the subsidiary company’s net
assets / shareholders fund which belongs to the minority shareholders.

iii) A company which is to be absorbed by another company after its
liquidation is called as Vendor Company.

iv) Reserves and profit and Loss account (credit balance) are debited
to the Equity Shareholders’ account.

v) The liquidator is an official person who helps the court in the
completion of the winding up procedure.

vi) Creditors which are ordinary creditors but have a preference for
payment over all other unsecured creditors are called preferential
creditors.

vii) Forensic accounting is utilized in litigation when quantification of
damages is needed.

c) Match the following. [5]

Voluntary Liquidation by Members Forensic Accounting

One liquidation, no formation Solvency Certificate

Investigation of financial manipulation Absorption

Rates, Taxes and Dues payable to Liability side of consolidated

the Government balance sheet

Minority Interest Preferential Creditors

d) Write short notes on (any three) [15]

i) Methods of Calculating Purchase Consideration

ii) Order of payment in liquidation of a company

iii) Cost of Control

iv) Objectives of Forensic Accounting

v) Key principles of Forensic Accounting
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Q2) Hitesh Ltd. acquired Equity shares in Satish Ltd. On 1st April, 2022. [20]

Balance Sheet of Hitesh Ltd. and Satish Ltd. as on 31st March, 2023

Liabilities Hitesh Satish Assets Hitesh Satish

Ltd. (Rs.) Ltd. (Rs.) Ltd. (Rs.) Ltd. (Rs.)

Issued, subscribed Land &

and paid up capital Buildings 2,00,000 40,000

Equity shares of Rs. Plant and

100 each fully paid 5,00,000 1,00,000 Machinery 3,00,000 60,000

General Reserve (as Investments

on 1st April, 2022) 1,00,000 40,000 (800 equity

Profit and Loss A/c 1,40,000 50,000 shares at cost) 1,00,000

Creditors 60,000 10,000 Stock 80,000 50,000

Debtors 60,000 30,000

Cash 60,000 20,000

8,00,000 2,00,000 8,00,000 2,00,000

Additional Information:

a) Sundry debtors of Hitesh Ltd. include Rs. 10,000 due from Satish Ltd.

b) Stock of Satish Ltd. Includes goods purchased from Hitesh Ltd., for
Rs. 40,000 on which Hitesh Ltd. Made a profit of 25% on sales.

c) On 1st April, 2022 the profit and loss of Satish Ltd. Showed a credit
balance of Rs. 10,000.

Prepare a consolidated balance sheet of Hitesh Ltd. and its subsidiary Satish
Ltd. as on 31st March, 2023.

Q3) Firoz Ltd., Ahmedabad agreed to acquire the  business of Prizm Ltd. Delhi as
on 31st March, 2023. The balance sheet of Prizm ltd. as on that date was as
follows. [20]

Balance sheet of prizm Ltd. as on 31st March, 2023

Liabilities Amount Assets Amount

(Rs.) (Rs.)

Share Capital Goodwill 2,00,000

Authorized Capital Land & Buildings 6,00,000

1,80,000 shares Rs. 10 Plant & Machinery 6,80,000

each 18,00,000 Stock 3,36,000
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Issued, Subscribed Sundry Debtors 72,000

and paid up capital Cash in Hand 12,000

1,20,000 shares of Cash at Bank 1,00,000

Rs. 10 each 12,00,000

General Reserve 3,40,000

Profit & Loss A/c 2,20,000

6% Debentures

(secured) 2,00,000

Sundry Creditors 40,000

20,00,000 20,00,000

Firoz Ltd. Has agreed to absorb Prizm Ltd. on the following Terms.

a) Purchase consideration was agreed as follows:

i) Cash payment of Rs. 2.50 per share in Prizm Ltd.

ii) Issue of 1,80,000 Equity shares of Rs. 10 each in Firoz Ltd. at
Rs. 15 per share.

iii) Issue of 2500, 8% debentures of Rs. 100 each at Rs. 96 per share
to redeem 6% debentures at a premium of 20%

b) Assets of Prizm Ltd. were valued as follows.

Land and building at Rs. 12,00,000, Plant and Machinery at Rs. 12,00,000,
Stock at Rs. 2,84,000 and Debtors to be valued after providing 5%
reserve for doubtful debts.

c) The cost of liquidation was Rs. 10,000.

You are required to prepare statement showing purchase consideration,
necessary ledger accounts in the books of Prizm Ltd and journal
entries in the books of Firoz Ltd.
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Q4) Viraj Ltd., Kanpur went into voluntary liquidation on 31st March 2023. Its
balance sheet on the date of liquidation was as follows. [20]

The Balance, sheet of viraj Ltd., Kanpur as on 31st March 2023

Liabilities Amount Assets Amount

(Rs.) (Rs.)

8,000, Equity Shares of Good will 4,48,000

Rs.100 each, Rs 80 paid 6,40,000 Land & Buildings 8,72,000

12,000, Equity Shares of Plant & Machinery 3,60,000

Rs. 100 each, 70 paid 8,40,000 Furniture 40,000

4,000 8% Preference Office Equipment 80,000

Shares of Rs. 100 Stock 3,96,000

each, fully paid 4,00,000 Debtors 3,40,000

8% Debentures Bills Receivables 88,000

(having floating charge Cash in Hand 32,000

on all assets) 4,00,000 Preliminary

Debentures interest Expenses 80,000

Payable 16,000 Profit & Loss

Sundry creditors 6,40,000 account 2,00,000

29,36,000 29,36,000

Additional Information:

a) Preference dividend was in arrears for last three years.

b) Sundry creditors include a loan of Rs. 1,60,000 secured on the
hypothecation of plant and machinery and preferential creditors Rs. 40,000

c) Liquidator realized the assets as follows:

Land & Building Rs. 8,60,000, Plant and Machinery Rs. 2,00,000, Office
Equipment Rs. 50,000, Furniture Rs. 34,000, Stock Rs. 2,80,000,
Debtors Rs. 2,40,000, Bills Receivable Rs. 28,000.

d) Legal charges on liquidation were Rs. 4,000

e) Liquidation Expenses Rs. 10,400

f) Liquidator is entitled to pay remuneration Rs. 4,000 plus 2% on sale of
assets and 4% on the amount distributed to unsecured creditors.

g) All amounts were paid on 1st July, 2023.

Prepare liquidator’s final statement of accounts.





Q1) a) Fill in the Blanks (Any five) : [5]

i) Store of value is a __________ function of money.

(primary, secondary, contingent, other)

ii) __________ has control over the money supply in the country.

(Commercial Banks, Central Bank, Foreign Bank, State Bank of
India)

iii) In times of inflation, the central bank adopts a policy of _________

(Dare Money Policy, Cheap Money Policy, Income, International
Trade)

iv) The nature of the trade cycle is __________

(Regional, International, Domestic, State Level)

v) __________ is direct tax.

(GST, Sales tax, Income tax, Custom duty )

vi) The most important source of income of a government is
_________

(Foreign Loans, Taxes, Printing of New Currency. Sale of govt.
property)

Total No. of Questions : 6]

[Total No. of Pages : 4
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(2019 Pattern) (CBCS) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 70
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1) Q. No.1 and Q. No.6 are compulsory
2) Solve any 3 questions from the remaining question nos. 2, 3, 4 and 5.
3) Figures to the right indicate full marks.
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b) Match the following pairs : [5]

Group 'A' Group 'B'

i) Open Market Operation a) Demand and Supply of
Money

ii) Cash Balance Approach b) Public Expenditure

iii) Fiscal Measures c) Indirect Tax

iv) G.S.T. d) Trade cycle

v) Fluctuations in e) Quantitative Credit Control

economic activity Method

Q2) Explain the Quantity Theory of Money. [15]

Q3) Explain the effects of inflation on Production & Distribution. [15]

Q4) What are the major monetary measures to control Business Cycle? [15]

Q5) What is Public Expenditure? State the causes of increasing Public
Expenditure. [15]

Q6) Write Short Notes on (Any three) : [15]

a) Limitations of Credit Creation of Commercial Banks

b) Demand - Pull Inflation

c) Bank Rate

d) Functions of Money

e) Deficit Budget


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243 : ì`mdgm{`H$ AW©emó - II (g_J«bjr)
(2019 Pattern) (CBCS) (Semester - IV)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 A{Zdm ©̀ AmhoV.
2) Cd©[aV àíZ H«$_m§H$ 2, 3, 4 Am{U 5 n¡H$s H$moUVohr VrZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

P-5862

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) _yë` g§M`Z ho n¡emMo ............... H$m ©̀ Amho.

(àmW{_H$, Xþæ`_, AZwe§JrH$, BVa)

ii) XoemVrb n¡emÀ`m nwadR>`mda ............... {Z`§ÌU AgVo.

(ì`mnmar ~±H$m§Mo, _Ü`dVu ~±Ho$Mo, naH$s` ~±H$m§Mo, ñQ>oQ> ~±H$ Am°\$ B§{S>`mMo)

iii) MbZdmT>rÀ`m H$mimV _Ü`dVu ~±H$ ............... YmoaUmMm pñdH$ma H$aVo.

(_hmJ n¡gm, ñdñV n¡gm, CËnÞ, Am§Vaamï´>r` ì`mnma)

iv) ì`mnmaMH«$mMo ñdê$n ............... AgVo.

(àmXo{eH$, Am§Vaamï´>r`, Xoem§VJ©V, amÁ` nmVirMo)

v) ............... hm àË`j H$a Amho.

(OrEgQ>r, {dH«$s H$a, CËnÞ H$a, gr_m ewëH$)

vi) gaH$mar CËnÞmMm à_wI ómoV ............... hm Amho.

(naH$s` H$O©, H$a, ZdrZ MbZ N>nmB©, gaH$mar _mb_ÎmoMr {dH«$s)
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~) `mo½` OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'

i) Iwë`m ~mOmamVrb ì`dhma A) n¡emMr _mJUr d nwadR>m

ii) amoI {e„H$ Ñï>rH$moZ ~) gmd©O{ZH$ IM©

iii) amOH$mofr` Cnm` H$) AàË`j H$a

iv) dñVy d godm H$a (GST) S>) ì`mnma MH«$

v) pñWa Am{W©H$ d¥{ÕXa B) g§»`mË_H$ nV{Z §̀ÌU nÕVr

àíZ àíZ àíZ àíZ àíZ 2) n¡emMm MbZ g§»`m_mZ {gÕm§V ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) MbZ{dñVmamMo CËnmXZmdarb Am{U {dVaUmdarb n[aUm_ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) ì`mnmaMH«$ {Z §̀{ÌV H$aÊ`mgmR>rMo à_wI _m¡{ÐH$/MbZr Cnm` H$moUVo? [15]

àíZ àíZ àíZ àíZ àíZ 5) gmd©O{ZH$ IM© åhUOo H$m`? gmd©O{ZH$ IM© dmT>rMr H$maUo gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) … [15]

A) ì`mnmar ~±H$m§À`m ~hþJw{UV nV{Z{_©VrÀ`m _`m©Xm.

~) _mJUr - VmU{Z{_©V MbZ{dñVma

H$) ~±H$Xa

S>) n¡emMr H$m }̀

B) VwQ>rMm AW©g§H$ën


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Instructions to the candidates:

1) Q. No. 1 is compulsory.
2) Attempt any 4 questions from Q.No.2 to Q. No. 6.
3) Figures to the right indicate full marks.

P5863 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blank with the most appropriate alternative (any five) : [5]

i) ______ needs are also called ‘Egoistic needs.

(Physiological, Social, Self-esteem)

ii) Management by objective (MBO) technique is introduced by______.

(Maslow, Herzberg, Peter Drucker)

iii) _____ function of management helps in taking corrective measures
in case of deviation from the planned course of action.

(Control, Motivation, Direction)

iv) In India, Corporate Social Responsibility is compulsory for
companies having a Net Profit of more than ` ______.

(5 Cr, 15 Lacs, 25 lacs)

v) ______ is NOT a technique of control.

(Break Even analysis, Theory ‘X’, Budget)

vi) In _____ style of leadership the leader gives complete freedom to
the subordinates.

(Bureaucratic, Laissez Faire, Autocratic)

P.T.O.
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B) State whether the following statements are True or False : [5]

i) Intrinsic motivation is a type of motivation in which an individual is
being motivated by internal desires.

ii) Leadership is a static and destructive force in any organization.

iii) Accountability means answerability.

iv) Corporate social responsibility refers to the system of structures,
rights, duties and obligations by which corporations are directed
and controlled.

v) Taking corrective action is the first step in the control process.

Q2) Explain the term ‘Motivation’ and its characteristics. [15]

Q3) What is ‘Leadership’? Explain in brief the various styles of Leadership. [15]

Q4) What do you mean by ‘Control’? Explain the need and importance of control.
[15]

Q5) What is ‘Disaster Management’? Explain the need and importance of disaster
management. [15]

Q6) Write a short note (any three) [15]

a) Corporate social responsibility

b) Need for coordination

c) Contribution of Dr. Babasaheb Ambedkar to Leadership

d) ‘Z’ theory of Motivation


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244 : BUSINESS MANAGEMENT - II
(2019 CBCS Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) à. H«$. 1 A{Zdm¶© Amho.
2) à. H«$. 2 Vo à. H«$. 6 ¶mn¡H$s H$moUË¶mhr 4 àíZm§Mr CÎmao {bhm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P5863

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ............. JaOm§Zm Ah§H$mar JaOm XoIrb åhUVmV.

(emar[aH$, gm‘m{OH$, ñdm{^‘mZ)

ii) C{Ôï>mZwgma ì¶dñWmnZ (E‘ ~r Amo) V§Ì ............ ¶m§Zr gmXa Ho$bo Amho.

(‘mñbmo, hP©~J©, nrQ>a S´>H$a)

iii) ............ ho ì¶dñWmnZmMo H$m¶© {Z¶mo{OV H¥$VrVyZ {dMbZ Pmë¶mg gwYmaUmË‘H$
Cnm¶¶moOZm H$aÊ¶mg ‘XV H$aVo.

({Z¶§ÌU, àoaUm, {Xem)

iv) ^maVmV, ........... nojm OmñV {Zìdi Z’$m Agboë¶m H§$nÝ¶m§gmR>r ì¶mgm{¶H$ gm‘m{OH$
O~m~Xmar A{Zdm¶© Amho.

(5 H$moQ>r, 15 bmI, 25 bmI)

v) ............. ho {Z¶§ÌUmMo V§Ì Zmhr.

(Zm Z’$m Zm VmoQ>m {dûcofU, {gÕm§V "j', A§XmOnÌH$)

vi) ZoV¥ËdmÀ¶m ................. e¡br‘Ü¶o ZoVm H${Zð>m§Zm nyU© ñdmV§Í¶ XoVmo.

(ZmoH$aemhr, b¡goP ’o$¶a, {Za§Hw$e)
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~) MyH$ H$s ~amo~a Vo gm§Jm. [5]

i) Am§V[aH$ A{^àoaUoo ‘Ü¶o EImXr ì¶º$s A§VJ©V BÀN>m§Ûmao no«[aV hmoVo.

ii) ZoV¥Îd hr H$moUË¶mhr g§ñWoVrb pñWa Am{U {dÜd§gH$ eº$s AgVo.

iii) CÎmaXm{¶Ëd åhUOo EImÚm H$m¶m©g O~m~Xma AgUo.

iv) g§ñWoMr gm‘m{OH$ O~m~Xmar åhUOo g§aMZm, A{YH$ma, H$V©ì¶o Am{U Xm{¶Ëdm§Mr àUmbr
Á¶mÛmao Vr g§ñWm {ZX}{eV Am{U {Z¶§{ÌV Ho$bo OmVmV.

v) gwYmaUmË‘H$ H$madmB© H$aUo hr {Z¶§ÌU à{H«$¶oVrb n{hbr nm¶ar Amho.

à.à.à.à.à.2) A{^àoaUm åhUOo H$m¶? A{^àoaUoMr d¡{eï²>¶o ñnï> H$am. [15]

à.à.à.à.à.3) ZoV¥Ëd åhUOo H$m¶? ZoV¥ËdmÀ¶m {d{dY e¡br WmoS>³¶mV ñnï> H$am. [15]

à.à.à.à.à.4) {Z¶§ÌU åhUOo H$m¶? {Z¶§ÌUmMr JaO Am{U ‘hÎd ñnï> H$am. [15]

à.à.à.à.à.5) AmnÎmr ì¶dñWmnZ åhUOo H$m¶? AmnÎmr ì¶dñWmnZmMr JaO Am{U ‘hÎd ñnï> H$am. [15]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ì¶mdgm{¶H$ gm‘m{OH$ O~m~Xmar

~) g‘Ýd¶mMr JaO

H$) S>m°. ~m~mgmho~ Am§~oS>H$a ¶m§Mo ZoV¥ËdmVrb ¶moJXmZ

S>) A{^àoaUoMm PoS> {gÕm§V


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Total No. of Questions : 6]
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245 : ELEMENTS OF COMPANY LAW - II
(CBCS 2019 Pattern) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Questions No.1 and questions No. 6 are compulsory.
2) Figures to the right indicate full marks.
3) Answer any 3 questions from the remaining questions No. 2,3,4 and 5.

P5864

Q1) A) Fill in the blank with the most appropriate alternative (Any Five) [5]

i) ______ is a person appointed according to company law to manage
the company.

(Auditor, Proxy, Director)

ii) Director appointed in absence of director is called as ________
director.

(Alternate, Elected, Nominee)

iii) The full form of MCA is ________.

(Ministry of corporate affairs, Master of corporate accounts, Master
in company activities)

iv) _______ is required for the proper conduct of company meeting.

(Directors, Chairman, Auditor)

v) The full form of DSC _______.

(Digital Signature Certificate, Directors Signature Certificate, Doctors
Signature Certificate)

vi) B2B stands for _______.

(Business to Business, Bank to Bank, Bank to Business)

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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B) Match the following [5]

 Group A Group  B

i) Compulsory Winding up a) Meeting of Specific
Stakeholders

ii) Class Meeting b) Ordinary Resolution

iii) Minimum 51% majority c) Proof of Resolution Pass

iv) Disqualification of Directors d) Special Resolution

v) Minutes e) Insolvency

Q2) Define, “Director”. Explain in detail the Qualifications and Disqualifications
of Company Director. [15]

Q3) What is Whole Time Director? Explain the difference between Whole Time
Director and Managing Director. [15]

Q4) What is Meeting? Explain in detail the various types of Company Meeting.[15]

Q5) What is E-Filling? Explain in detail the process of E-Filling. [15]

Q6) Write short notes. (Any Three) [15]

a) Role of Company Secretary.

b) Activities under Corporate Social Responsibility.

c) Virtual Meeting of Company.

d) E-Governance.

e) Dissolution of Company.


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245 : ELEMENTS OF COMPANY LAW - II
(CBCS 2019 Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$‘m§H$ 1 Am{U 6 A{Zdm¶© Amho.

2) Cabobo àíZ H«$‘m§H$ 2,3,4 Am{U 5 n¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

P5864

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) H§$nZr H$m¶ÚmVrb VaVwXrZwgma H§$nZrMo ì¶dñWmnZ H$aÊ¶mgmR>r {Z¶wº$  Ho$boë¶m ì¶º$sbm
.................. Ago åhUVmV.

(A§Ho$jH$, à{V{ZYr, g§MmbH$)

ii) AZwnpñWV g§MmbH$mÀ¶m OmJoda Zo‘boë¶m g§MmbH$mbm ............ g§MmbH$ Ago åhUVmV.

(n¶m©¶r, {Z¶wº$, Zm‘{ZX}{eV)

iii) MCA Mo nyU© ê$n ...............

(Ministry of corporate affairs, Master of corporate accounts, Master
in company activities)

iv) g ôMo H$m‘H$mO ì¶dpñWV nma nmS>Ê¶mgmR>r g ôbm ............. AgUo Amdí¶H$ Amho.

(AÜ¶j, g§MmbH$, A§Ho$jH$)

v) DSC Mo nyU© ê$n .................... Amho.

(Digital Signature Certificate, Directors Signature Certificate, Doctors
Signature Certificate)

vi) ~rQy>~r åhUOo .....................

(Business to Business, Bank to Bank, Bank to Business)
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~) OmoS>²¶m Owidm. [5]
JQ> A JQ> ~

i) gº$sMo g‘mnZ A) {d{eï> dJm©Vrb gXñ¶m§Mr g^m {deof

 R>amd

ii) dJ© g^m ~) gmYmaU R>amd

iii) {H$‘mZ 51% ~hþ‘V H$) R>amd nmg Pmë¶mMm nwamdm

iv) g§MmbH$m§Mo AnmÌVm  S>) {deof R>amd {XdmiImoar

v) B{Vd¥Îm B) {XdmiImoar

à.à.à.à.à.2) g§MmbH$mMr ì¶m»¶m Úm. H§$nZr g§MmbH$mMr nmÌVm d AnmÌVm g{dñVa ñnï> H$am. [15]

à.à.à.à.à.3) nyU©doi g§MmbH$ åhUOo H$m¶? nyU©doi g§MmbH$ d ì¶dñWm g§MmbH$ ¶mVrb ’$aH$ ñnï> H$am. [15]

à.à.à.à.à.4) g^m åhUOo H$m¶? H§$nZr g^m§Mo {d{dY àH$ma g{dñVa ñnï> H$am. [15]

à.à.à.à.à.5) B©-’$m¶qbJ åhUOo H$m¶? B©-’$mBqbJ Mr à{H«$¶m g{dñVa ñnï> H$am. [15]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 3) [15]

A) H§$nZr {MQ>UrgmMr ŷ{‘H$m

~) H§$nZrMr gm‘m{OH$ O~m~Xmar A§VJ©V H$m¶}

H$) H§$nZrMr Am^mgr g^m

S>) B-JìhZ©Ýg

B) H§$nZrMo {dgO©Z





Q1) a) Fill in the blank with the most appropriate alternative (any Five) : [5]

i) The Companies Act of _________ sets down rules for the
establishment of both public and private companies.

(1932, 1986, 1956)

ii) The __________ governs the levy of income tax in India.

(Income tax act 1961, Central Sales Tax act 1956, Bombay Sales
Tax Act 1953)

iii) __________ are not an external element of the business
organization.

(Workers, Political, Social)

iv) ___________ is not a limitation of Joint Stock Company.

(Perpetual succession, Lack of secrecy, Limited Liability)

v) The main purpose of a business is to ___________.

(Make a profit, Make a loss, No profit no loss)

vi) Business units having an investment up to Rs. 1 crore and turnover
up to Rs. 5 crores are considered as a __________ unit.

(Micro, Small, Medium)
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b) Match the following : [5]

Column A Column B

i) ESI Corporation a) Employee state insurance
registration

ii) Franchising b) Registration of Micro, small
and medium Enterprises

iii) FEMA Act 1999 c) Contract between private
entity and government
enterprise

iv) Public Private Partnership d) Regulation of all foreign
exchange transactions

v) MSMED Act 2006 e) License fee

Q2) Write a short note (any two) : [10]

a) Quality Control

b) Process of company formation

c) Importance of Business Strategy

d) Advantages of Franchising

Q3) a) Discuss in detail about the compliance of legal requirement for
promoting a business unit. [8]

b) State the advantages of boost productivity. [7]

Q4) a) State the advantages of public-private partnership. [8]

b) Define merger. Explain the types of mergers. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]

i) .............. Mm H§$nZr H$m`Xm gmd©O{ZH$ Am{U ImOJr XmoÝhr H§$nÝ`m§À`m
ñWmnZogmR>r {Z`_ R>adVmo.

(1932, 1986, 1956)

ii) ^maVmVrb Am`H$a AmH$maUrMo {Z`_Z ................. H$m`Úm A§VJ©V Ho$bo OmVo.

(Am`H$a H$m`Xm 1961, H|$Ðr` {dH«$sH$a H$m`Xm 1956, ~m°å~o {dH«$sH$a H$m`Xm
1953)

iii) ................ hm ì`dgm` g§ñWoMm ~mø KQ>H$ Zmhr.

(H$m_Jma, amOH$s`, gm_m{OH$)

iv) .............. hr g§̀ wº$ ^m§S>dbr g§ñWoMr _`m©Xm Zmhr.

(emœV CÎmam{YH$ma, JwáoMm A^md, _`m©{XV Xm{`Ëd)

v) ì`dgm`mMm _w»` CÔoe ................... hm AgVmo.

(Z\$m H$_{dUo, VmoQ>m H$_{dUo, Zm-Z\$m-Zm-VmoQ>m)

vi) 1 H$moQ>r ê$n`m§n ª̀VMr Jw§VdUyH$ Am{U 5 H$moQ>r ê$n`m§n ª̀VMr CbmT>mb Agboë`m
ì`dgm`mg .................. åhUVmV.

(gyú_ CÚmoJ, bKw CÚmoJ, _Ü`_ CÚmoJ)
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~) `mo½` OmoS²>`m bmdm. [5]

aH$mZm A aH$mZm ~

i) B©EgAm` H$m°nm}aoeZ A) H$_©Mmar amÁ` {d_m Zm|XUr

ii) \«§o$Mm`qPJ ~) gyú_, bKw Am{U _Ü`_ CÚmoJm§Mr Zm|XUr

iii) \o$_m H$m`Xm 1999 H$) ImOJr g§ñWm Am{U gaH$mar CnH«$_
`m§À`mVrb H$ama

iv) gmd©O{ZH$ ImOJr ^mJrXmar S>) gd© naH$s` MbZ ì`dhmam§Mo {Z`_Z

v) E_EgE_B©S>r H$m`Xm 2006 B) nadmZm ewëH$

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr 2) [10]

A) JwUdÎmm {Z §̀ÌU

~) H§$nZr {Z{_©VrMr à{H«$`m

H$) ì`dgm` ì ẁìhaMZoMo _hÎd

S>) \o«§$Mm`qPJMo \$m`Xo

àíZ àíZ àíZ àíZ àíZ 3) A) ì`dgm` gwê$ H$aÊ`mgmR>r Amdí`H$ AgUmè`m H$m`Xoera ~m~tMr _m{hVr ñnï> H$am.
[8]

~) CËnmXH$Vm dmT>rMo \$m`Xo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) gmd©O{ZH$-ImOJr ^mJrXmarMo \$m`Xo ñnï> H$am. [8]

~) {dbrZrH$aU åhUOo H$m` Vo gm§JyZ {dbr{ZH$aUmMo àH$ma ñnï> H$am. [7]





Q1) A) Fill in the blanks (Attempt any 5) : [5]

i) National Bank for Agriculture and Rural Development was
established in _________.

a) 1 July 1980 b) 12 July 1982

c) 7 July 1982 d) 14 November 1969

ii) IFCI was established in ____________.

a) 1948 b) 1949

c) 1955 d) 1980

iii) Exim bank was established in ________.

a) 1950 b) 1964

c) 1982 d) 1955

iv) ________ has an authority to print currency notes.

a) Central Bank b) Commercial Bank

c) Co-operative Bank d) Private Bank

v) Bank for International settlement is in ________ country.

a) Geneva b) Besal

c) Switzerland d) India

vi) _______ means lending loans by all the banks in the proportion of
their total deposits.

a) Credit Deposit Ratio b) Capital Adequacy Ratio

c) Cash Reserve Ratio d) Statutory Liquidity Ratio
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B) Match the pairs. [5]

   'A' group       'B' group

i) Industrial Credit and Investment a) Agriculture and Rural
corporation of India Credit  Apex Bank

ii) National Bank for Agriculture b) 1 January 1955
and Rural Development

iii) Small Industries Development c) 2 April 1990
Bank of India

iv) Besal - II d) 14 August 1991

v) M. Narsimham Committee - I e) June 2004

Q2) Write short notes (Any 2) : [10]

a) State Co-operative Bank

b) Central Banking

c) Industrial Development Bank of India (IDBI)

d) Digital Banking

Q3) a) Define Co-operative and Explain principles of Co-operative. [8]

b) State the functions of Development Banks - 7. [7]

Q4) a) State functions of Commercial Banks. [8]

b) State the Recommendations of M. Narsimham Committee - II. [7]


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àíZ 1) A) [aH$må`m OmJr `mo½` n`m©̀  {bhm. (H$moUVohr nmM) [5]

i) ........... amoOr amï´>r` H¥$fr d J«m_rU {dH$mg ~±Ho$Mr ñWmnZm H$aÊ`mV Ambr.

A) 1 Owb¡ 1980 ~) 12 Owb¡ 1982

H$) 7 Owb¡ 1982 S>) 14 Zmoh|~a 1969

ii) Am`E\$grAm` Mr ñWmnZm ............. ̀ m dfu Pmbr.

A) 1948 ~) 1949

H$) 1955 S>) 1980

iii) Am`mV {Z`m©V ~±Ho$Mr ñWmnZm ............... ̀ m dfu Pmbr.

A) 1950 ~) 1964

H$) 1982 S>) 1955

iv) MbZr ZmoQ>m N>mnÊ`mMm A{YH$ma Ho$di ........... ~±H$m§ZmM AgVmo.

A) _Ü`dVu ~±H$ ~) ì`mnmar ~±H$

H$) ghH$mar ~±H$ S>) ImOJr ~±H$

v) Bank for International Settlements hr ~±H$ ................ ̀ m Xoem_Ü`o
Amho.

A) Or{Zìhm ~) ~ogb

H$) pñdËPbªS> S>) ^maV

vi) ......... åhUOo gd© ~±H$m§Zr Amnë`m EHy$U R>odrÀ`m à_mUmV Ho$bobm H$O©nwadR>m
hmò .

A) nVR>od JwUmoÎma ~) ^m§S>db n`m©áVm

H$) amoI aIrd {ZYr S>) d¡Úm{ZH$ VabVm à_mU

3 P.T.O.
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~) `mo½` OmoS>çm bmdm. [5]

"A' JQ>       "~' JQ>

i) ^maVr` Am¡Úmo{JH$ nV Am{U Jw§VdUyH$ A) H¥$fr d J«m_rU nVnwadR>m-{eIa
_hm_§S>i ~±H$

ii) amï´>r` H¥$fr d J«m_rU {dH$mg ~±H$ ~) 1 OmZodmar 1955

iii) ^maVr` bKwCXçmoJ {dH$mg ~±H$ H$) 2 E{àb 1990

iv) ~ogb - II S>) 14 Am°JñQ> 1991

v) E_. Zaqgh_ g{_Vr >- I B) OyZ 2004

àíZ 2) {Q>nm {bhm. (H$moUVohr 2) [10]

A) amÁ` ghH$mar ~±H$m

~) _Ü`dVu ~±H$m

H$) ^maVr` Am¡Úmo{JH$ {dH$mg ~±H$ (Am` S>r ~r Am`)

S>) {S>{OQ>b ~±H$m

àíZ 3) A) "ghH$ma' ì`m»`m gm§JyZ ghH$mamMr VÎdo ñnï> H$am. [8]

~) ^maVmVrb {dH$mg ~±H$m§Mr H$m`} ñnï> H$am. [7]

àíZ 4) A) ì`mnmar ~±H$m§Mr H$m`} gm§Jm. [8]

~) E_. Zaqgh_ g{_Vr - II À`m {e\$maer gm§Jm. [7]





Q1) A) Fill in the blanks (Attempts any 5 out of 6) : [5]
i) Co-operative movement first started in _____________

(France, England, Germany)
ii) The members of a Co-operative society have _________

(Unlimited Liability, Limited liability, Joint Liability)
iii) _________ not be a claimant under a policy?

(Appointee, Minor nominee, Legal heir)
iv) When did the competition Act, 2002 come into force?

(1st April 2004, 31st March 2003, 1st May 2002)
v) 'First Come last go and last come first go' is the principle of ______

(Lay-off, Retrenchment, closure)
vi) _______ is the regulator of Insurance sector in India.

(RBI, IRDA, SEBI)
B) Match the following : [5]

        Group A       Group B
i) Co-Operative society a) Principle of indmnity
ii) Life Insurance b) Payment made by policy holder
iii) Premium c) One member one vote
iv) CCI d) Weapon in the hands of workers
v) Strike e) Competition commission of India
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Q2) Write short notes on (any two) : [10]
a) Cancellation of Registration of co-opearative society.
b) Features of Life Insurance.
c) Duties of Competition commission.
d) Lock-out

Q3) a) Explain the types of co-operative societies. [8]
b) Define Insurance Explain the Principles of life Insurance. [7]

Q4) a) Explain the objectives and scope of competition Act 2002. [8]
b) What is the Industrial disputes? Explain the consequences of Industrial

disputes. [7]


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3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P-5867

àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr 5) [5]
i) ghH$mar Midi .............. ¶oWo n{hë¶m§Xm gwê$ Pmbr.

(’«$mÝg, B§½b§S>, O‘©Zr)
ii) ghH$mar g§ñWoÀ¶m g^mgXm§H$S>o ............ Amho.

(A‘¶m©{XV O~m~Xmar, ‘¶m©{XV O~m~Xmar, g§¶wº$ O~m~Xmar)
iii) ........... nm°{bgr A§VJ©V XmdoXma hmoD$ eH$V Zmhr.

({Z¶wº$, Aënd¶rZ C‘oXdma, H$m¶Xoera dmag)
iv) ñnYm© H$m¶Xm, 2002 H$YrnmgyZ bmJy Pmbm .............

(1 E{àb 2004, 31 ‘mM© 2003, 1 ‘o 2002)
v) "àW‘ ¶m eodQ>r Om Am{U eodQ>r ¶m àW‘ Om' ho VÎd ........... Amho.

(H$m‘mdê$Z H$‘r H$aUo, H$m‘Jma H$nmV, ~§X)
vi) ............. ho ^maVmVrb {d‘m joÌmMo {Z¶m‘H$ Amho.

(Ama. ~r. Am¶, Am¶. Ama, S>r. E., go~r)
~) OmoSçm Owidm. [5]

"A' JQ> "~' JQ>

i) ghH$mar g§ñWm A) ZyH$gmZ ^anmB©Mo VÎd

ii) OrdZ {d‘m> ~) nm°{bgrYmaH$mZo Ho$bobo no‘|Q>

iii) {då¶mMm hám H$) EH$ gXñ¶ EH$ ‘V

iv) gr. gr. Am¶. S>) H$m‘Jmam§À¶m hmVmVrb eñÌ

v) g§n B) ^maVmVrb ñnYm© Am¶moJ

3 P.T.O.
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àíZ 2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]
A) ghH$mar g§ñWoMr Zm|XUr aX²X H$aUo.

~) OrdZ {då¶mMr d¡{eï>¶o

H$) ñnYm© Am¶moJmMr H$V©ì¶o

S>) Q>moi~§Xr

àíZ 3) A) ghH$mar g§ñWmMo àH$ma ñnï> H$am. [8]
~) {då¶mMr ì¶m»¶m {bhÿZ {då¶mMr VÎdo ñnï> H$am. [7]

àíZ 4) A) ñnYm© H$m¶Xm 2002 Mr C{Ôï>¶o Am{U ì¶már ñnï> H$am. [8]
~) Am¡X²¶mo{JH$ {ddmX åhUOo H$m¶? Am¡X²¶mo{JH$ {ddmXmMo n[aUm‘ ñnï> H$am. [7]





Q1) A) Fill in the blanks (Attempt any 5) : [5]

i) The first co-operative societies Act was passed in India in the year
________.

a) 1910

b) 1902

c) 1914

ii) A society having village as its area of operation is known as
______.

a) Primary society

b) Bank

c) Secondary society

iii) The principle followed in a co-operative society is _______.

a) No Vote

b) One man one vote

c) Multiple votes

iv) _______ is responsible to maintain minutes book of the co-
operative society.

a) Treasurer

b) Secretary

c) Registrar
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v) Maharashtra state co-operative societies Act was passed in the year
________.

a) 2001

b) 1963

c) 1960

vi) Amendment in Maharashtra co-operative societies Act was made
in the year ________.

a) 2010

b) 2020

c) 2013

B) Match the following : [5]

Group 'A' Group 'B'

i) Bye Laws of co-operative Society a) State level

ii) Apex society b) Service

iii) Objectives of co-operative society c) Constitution of society

iv) Members of co-operative society d) Secretary

v) Writing the minutes of the meeting e) Limited liability

Q2) Write Short Notes (Any Two) : [10]

a) Benefits of co-operative legislation.

b) Contemporary conditions of Non Agricultural credit co-operatives.

c) Dairy co-operative societies.

d) Urban co-operative Banks.

Q3) a) Discuss on co-operative societies Act 1912. [8]

b) Explain problems of urban co-operative Banks. [7]

Q4) a) Explain the objectives of Multistate co-operative societies act. [8]

b) Explain process of membership of co-operative societies. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr nmM) … [5]

i) ^maVm_Ü ò n{hbm ghH$mar g§ñWm H$m`Xm .............. gmbr g§_V Pmbm.

A) 1910

~) 1902

H$) 1914

ii) Á`m ghH$mar g§ñWoMo H$m ©̀joÌ JmdmnwaVo _`m©{XV Amho Ë`mbm ............ åhUVmV.

A) àmW{_H$ g§ñWm

~) ~±H$

H$) Xþæ`_ g§ñWm

iii) ghH$mar g§ñWoV ............. ho VËd nmibo OmVo.

A) H$moUVohr _V Zmhr

~) EH$ ì`{º$ EH$ _V

H$) EH$m{YH$ _Vo

iv) ghH$mar g§ñWo_Ü ò g ôMo B{Vd¥Îm {bhÿZ R>odÊ`mMr O~m~Xmar .............. `m§Mr
AgVo.

A) I{OZXma

~) g{Md

H$) {Z~§YH$
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v) _hmamï´> amÁ` ghH$mar H$m`Xm ............. gmbr g§_V Pmbm.

A) 2001

~) 1963

H$) 1960

vi) _hmamï´> amÁ` ghH$mar H$m`Úm_Ü ò ............. gmbr gwYmaUm H$aÊ`mV Ambr.

A) 2010

~) 2020

H$) 2013

~) OmoS>çm Owidm. [5]

JQ> "A' JQ> "~'

i) ghH$mar g§ñWoMo Cn{Z`_ A) amÁ`ñVar`

ii) {eIa g§ñWm ~) godm

iii) ghH$mar g§ñWoMo C{Ôï> H$) ghH$mar g§ñWoMr KQ>Zm

iv) ghH$mar g§ñWooMo g^mgX S>) g{Md

v) g ôMo B{Vd¥Îm {bhrUo B) _`m©{XV O~m~Xmar

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm  (H$moUVohr XmoZ) … [10]

A) ghH$mar H$m`ÚmMo _hËd

~) AH¥$fr - nVghH$marMr g_H$mbrZ n[apñWVr

H$) Xþ½Y ghH$mar g§ñWm

S>) ZmJar ghH$mar ~±H$m

àíZ àíZ àíZ àíZ àíZ 3) A) ghH$mar g§ñWm H$m`Xm 1912 da MMm© H$am. [8]

~) ZmJar ghH$mar ~±H$mÀ`m g_ñ`m ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ~hþamÁ` ghH$mar g§ñWm H$m`Úm§Mr d¡{eï>ço ñnï> H$am. [8]

~) ghH$mar g§ñWm gXñ`ÎdmMr àH«$s`m ñnï> H$am. [7]





Q1) a) Fill in the blanks by choosing the proper alternative given in the
bracket (any five) : [5]

i) _________ is a record of both quantities and values.

(Bin Card, Stores Ledger, Inspection Report, All of the above)

ii) Recording of workers time spent on different jobs is known as
_________.

(Time Booking, Time Keeping, Job Card, Idle time card)

iii) Job evaluation tries to make a systematic comparison between
_________.

(Workers, Jobs, Machines, Departments)

iv) Just in Time was successfully implemented by _________.

(Toyota, Honda, Suzuki, Volkswagen)

v) _________ stores organization is adopted to stores all the goods
at centrally located at one place.

(Centralized, Central stores with sub stores, Independent Stores,
Decentralized)

vi) _________ is the rate of change in the labour force of an
organization.

(Labour Turnover Rate, Material Turnover Rate, Inventory
Turnover Rate, sales Turnover)
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b) Match the following : [5]

Group A Group B

i) Time Keeping a) Numeric Method

ii) Separation Method b) Fixed Cost

iii) Codification c) Glasgow

iv) Rowan Premium Plan d) Disc Method

v) Salary e) Labour Turnover

Q2) Write short notes on any two of the following : [10]

a) Methods of Codification

b) Modern methods of Time Keeping

c) Computer Aided Manufacturing CAM

d) Job Analysis and Evaluation

Q3) a) The following transactions took place relating to Material X during
December 2022 :

Date Particular Quantity (Units) Rate per Unit (Rs.)

Dec. 4 Received 2,000 10

Dec. 6 Issued 500 --

Dec. 13 Received 800 5

Dec. 15 Issued 400 --

Dec. 20 Received 1,500 20

Dec. 25 Received 200 24

Dec. 28 Issued 1200 --

You are required to prepare the Store Ledger Account under the FIFO
method and also calculate the closing stock. [8]

b) From the following particulars supplied by the personal department of
ABC Ltd, calculate labour turnover rate under Separation Method,
Replacement Method and Flux Method [7]

Total number of employees at the beginning of the year 500

Total number of employees at the end of the year 1500

Number of employees who left during the year 30

Number of employees who are recruited during the year 20
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Q4) a) Calculate the total earnings of Mr. Raj under Time Rate, Halsey
Premium Plan & Rowan Plan with the help of following information.

[8]

Time Taken ---- 50 hours

Time Allowed ---- 60 hours

Rate of wages ---- Rs. 10 per hour

b) What is Enterprise Resource Planning? Explain in brief the Types of
ERP systems. [7]





Q1) A) Choose the correct alternative in each of the following (any five)

[5 × 1 = 5]
i) In time series values are arranged in ________ order.

a) increasing b) decreasing

c) chronological d) random

ii) The long term regular movement in a time series is called as
_______.

a) seasonal variations b) trend

c) cyclical variations d) irregular variations

iii) In a L.P.P. functions to be maximized or minimized are called
______.

a) basic solution b) feasible solution

c) objective function d) constraints

iv) If the primal problem has 3 constraints and 4 variables then the no.
of constraints in the dual problem is _______.

a) 3 b) 4

c) 7 d) 12
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v) Which of the following is used to come up with solution to the
assignment problem?
a) NW corner method b) MN method
c) Hungarian method d) MODI method

vi) The solution to a transportation problem with m-sources and n-
destinations is feasible if the no. of allocations are ______.
a) m + n b) m – n
c) mn d) m + n – 1

B) State whether following statements are true or false (any five) :[5 × 1 = 5]
i) Short term fluctuations in time series is known as seasonal variation.
ii) When the components in time series are independent then additive

model is suitable.
iii) A L.P.P. may have more than one solution giving the same optimal

value of the problem.
iv) Every L.P.P is associated with another L.P.P. is called the 'dual' of

the problem.
v) In transportation problem a feasible solution is said to be optimal if

the total transportation cost is zero.
vi) Assignment problem is a special type of transportation problem.

Q2) Attempt each of the following : [3 × 5 = 15]
a) Explain the concepts of additive and multiplicative models in the analysis

of time series. Compare their utility.

b) Fit a straight line trend by the method of least squares to the following
data.

Year (t) 2015 2016 2017 2018 2019

Production (yt) 14 11 13 15 16

(in tonnes)

Estimate production for the year 2021.

c) Estimate the trend using 10% smoothing constant for the following time
series :

t 1 2 3 4 5 6 7 8 9 10

yt 31 37 39 41 41 39 33 29 27 29
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Q3) Attempt each of the following : [3 × 5 = 15]

a) Define L.P.P., Explain the real life situations from business where simplex
method may be used.

b) Obtain dual of the following L.P.P.

Minimize z = 7x1 + 3x2 + 8x3

Subject to    8x1 + 2x2 + x3 > 3

           3x1 + 6x2 + 4x3 > 4

           4x1 + x2 + 5x3 > 7

           x1 , x2 , x3 > 0

c) Obtain initial simplex table for

Maximize z = 5x1 + 3x2

Subject to    x1 + x2 < 2

           5x1 + 2x2 < 10

           3x1 + 8x2 < 12

           x1 , x2 > 0

Q4) Attempt each of the following : [3 × 5 = 15]

a) Define transportation problem, balanced and unbalanced transportation
problem.

b) Obtain initial basic feasible solution of the following transportation problem
using North-West corner method.

Markets D1 D2 D3 Supply

Sources

01 5 1 8 12

02 2 4 0 14

03 3 6 7 4

Demand 9 10 11

Also find the corresponding transportation cost.
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c) Obtain initial basic feasible solution of the following transportation problem
by matrix minima method.
Destination  D1 D2 D3 D4 Supply
Origine 

01 30 25 40 20 100
02 29 26 35 40 250
03 31 33 37 30 150

Demand 90 160 200 50
Also find the corresponding transportation cost.

Q5) Attempt each of the following : [3 × 5 = 15]
a) Describe mathematical model for assignment problem, explain the concept

of minimization and maximization.
b) Solve the following assignment problem for maximization

I II III IV
A 1 8 4 1
B 5 7 6 2
C 3 5 4 2
D 3 1 6 2

c) Solve the following assignment problem for minimization
Machines

I II III IV
A 42 35 28 21

Jobs B 30 25 20 15
C 30 25 20 15
D 24 20 16 12

Q6) Write short notes on the following (Any Three) : [3 × 5 = 15]
a) Discuss the four components of time series.
b) Discuss long term and short term fluctuations in analysis of time series.
c) Basic feasible solution, alternate solution, degenerate solution in simplex

method

d) MODI method for obtaining optimal solution in transportation problem.

e) Hungarian method to solve assignment problem.





Q1) A) Fill in the blanks (any 5) : [5]

i) Mr. Ritesh Agarwal is the CEO of ________.

a) Jyo Rooms

b) Oyo Rooms

c) Vyo Rooms

ii) __________ plays a key role in the process of economic
Development.

a) Seller

b) Entrepreneur

c) Customer

iii) Manufacturing of goods is related to _________ sector.

a) Service

b) Primary

c) Secondary

iv) EDP stands for _______.

a) Enterprise Development programme

b) Entrepreneurship Development programme

c) Entrepreneur Development programme
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v) The company was launched as Oyo Rooms in the year ________.

a) 2013

b) 2010

c) 2020

vi) Self Help Group involves _________ people.

a) 5-10

b) 10-20

c) 15-25

B) Match the following : [5]

Group 'A' Group 'B'

i) Self Help Group a) D-Mart

ii) Mr. Radhakishan Damani b) 1976

iii) Covid - 19 c) Colour coding system

iv) Mumbaiche Dabewale d) Social Distancing

v) Insurance e) Navkri. Com

f) Service industry

g) padma Bhushan

Q2) Write Short Notes (Any Two) : [10]

a) Individual Entrepreneurship.

b) Service Industry management.

c) Mr. Ritesh Agarwal

d) Social challanges in Entrepreneurship Development.

Q3) a) Explain in detail nature of Self Help Group. [8]

b) Distinction between service industry and manufacturing industry. [7]

Q4) a) Explain the Effects of corona virus on Entrepreneurship. [8]

b) Explain the industrial contribution of Mr. Ratan Tata. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr nmM) … [5]

i) lr. [aVoe AJadmb ho ............. Mo grB©Amo AmhoV.

A) Oo. dm`. Amo. ê$åg

~) Amo. dm`. Amo. ê$åg

H$) pìh. dm`. Amo. ê$åg

ii) Am{W©H$ {dH$mg à{H«$ ò _Ü ò ............... _w»` ŷ{_H$m {Z^mdV AgVmV.

A) {dH«o$Vm

~) CÚmoOH$

H$) J«mhH$

iii) dñVw§Mo CËnmXZ ho ................ joÌmer g§~§{YV Amho.

A) godm

~) àmW{_H$

H$) {ÛVr`

iv) B©S>rnr åhUOo .....................

A) CnH«$_ {dH$mg H$m ©̀H«$_

~) CÚmoOH$Vm {dH$mg H$m ©̀H«$_

H$) CÚmoOH$ {dH$mg H$m ©̀H«$_
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v) Amo. dm`. Amo. ê$åg `m H§$nZrMr gwê$dmV ............... dfu Pmbr.

A) 2013

~) 2010

H$) 2020

vi) ñd §̀ ghmæ`Vm JQ>m_Ü ò ............. bmoH$m§Mm g_mdoe hmoVmo.

A) 5-10

~) 10-20

H$) 15-25

~) OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'

i) ñd §̀-ghmæ`Vm JQ> A) S>r. _mQ>©

ii) lr. amYm {H$eZ X_mZr ~) 1976

iii) H$mo{dS> - 19 H$) a§J H$moqS>J nÕV

iv) _w~§B©Mo S>~odmbo> S>) gm_m{OH$ A§Va

v) {d_m B) Zm¡H$ar. H$m°_

\$) godm CÚmoJ

`) nX²_ ŷfU

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr XmoZ) [10]

A) d¡̀ {º$H$ CÚmoOH$Vm

~) godm CÚmoJ ì`dñWmnZ

H$) lr. [aVoe AJadmb

S>) CÚmoOH$Vm {dH$mgmVrb gm_m{OH$ AmìhmZo

àíZ àíZ àíZ àíZ àíZ 3) A) ñd §̀ ghmæ`Vm JQ>mMo ñdê$n g{dñVa ñnï> H$am. [8]

~) godm CÚmoJ d CËnmXZ CÚmoJ `mVrb \$aH$. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) CÚmoOH$Voda H$moamoZm {dfmUyMm n[aUm_ ñnï> H$am. [8]

~) lr. aVZ Q>mQ>m `m§Mo CÚmoJmVrb `moJXmZ ñnï> H$am. [7]





Q1) a) Fill in the blanks (Attempt Any five) : [5]
i) Green Marketing is also known as _________.

(Environmentally Marketing, Digital Marketing, Social Marketing,
Rural Marketing)

ii) E-marketing requires _________.
(Internet, Land, Marketing mix, Green marketing)

iii) E-mail marketing saves _________ and money.
(Work, Time, Management, Internet)

iv) International marketing leads to growth of _________.
(consumer satisfaction, profitability, time, sources)

v) __________ help to protect the environment.
(E-marketing, Green marketing, Digital marketing, Social media
marketing)

vi) Facebook is an example of _________.
(Green marketing, E-marketing, Rural marketing, Marketing mix)

b) Match the following : [5]
Group 'A' Group 'B'

i) Increase in Export a) Online Advertisement
ii) E-mail marketing b) International Marketing
iii) Instagram c) E-marketing
iv) Direct Response d) Use of natural sources
v) Green marketing e) Social media marketing

f) Plastic ban
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Q2) Write Short Notes (Any 2) : [10]

a) Objectives of Green Marketing.

b) Online Marketing Strategies

c) Mobile App Marketing

d) Benefits of International Marketing

Q3) a) What do you mean by Green Marketing? Explain the Role of Marketing
Manager in Green Marketing. [8]

b) Define E-marketing. Explain the limitations of E-marketing. [7]

Q4) a) Define Digital Marketing. Distinguish between Traditional Marketing
and Digital Marketing. [8]

b) What is meant by International Marketing? Explain the forces
restraining International Marketing. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) h[aV {dnUZ åhUOo ................ hmo`.

(n`m©daU {dnUZ, {S>{OQ>b {dnUZ, gm_m{OH$ àgma_mÜ`m_mÛmao {dnUZ, J«m_rU
{dnUZ)

ii) B©-{dnUZmgmR>r ............... Mr Amdí`H$Vm AgVo.

(B§Q>aZoQ>, O_rZ, {dnUZ {_l, h[aV {dnUZ)

iii) B-_ob {dnUZmÛmao ............... d n¡emMr ~MV hmoVo.

(H$m_mMr, doioMr, ì`dñWmnZmMr, B§Q>aZoQ>Mr)

iv) Am§Vaamï´>r` {dnUZm_wio ............... dmT> hmoVo.

(J«mhH$ g_mYmZ, Zâ`mV, doimV, ómoV)

v) ............... _wio n`m©daUmMo g§ajU hmoVo.

(B©-{dnUZ, h[aV {dnUZ, gm_m{OH$ àgma_mÜ`_mÛmao {dnUZ, {S>{OQ>b {dnUZ)

vi) \o$g~wH$ ho ............... Mo CXmhaU Amho.

(h[aV {dnUZ, B-{dnUZ, J«m_rU {dnUZ, {dnUZ {_l)

~) OmoS>çm bmdm. [5]
JQ> "A' JQ> "~'

i) {Z`m©Vd¥Õr A) Am°ZbmB©Z Om{hamV

ii) B©-_ob  {dnUZ ~) Am§Vaamï´>r` {dnUZ

iii) BZñQ>mJ«m_ H$) B-{dnUZ

iv) WoQ> à{VgmX S>) Z¡g{J©H$ ómoVm§Mm dmna

v) h[aV {dnUZ B) gm_m{OH$ àgma_mÜ`_mÛmao {dnUZ

\$) ßbmpñQ>H$ ~§Xr
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àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr 2) [10]

A) h[aV {dnUZmMo CÔoe

~) Am°ZbmBZ {dnUZmMr ì ẁhaMZm

H$) _mo~mBb Am°nÛmao {dnUZ

S>) Am§Vaamï´>r` {dnUZmMo {d{dY \$m`Xo

àíZ àíZ àíZ àíZ àíZ 3) A) h[aV {dnUZmMm AW© gm§JyZ h[aV {dnUZm_Ü ò {dnUZ ì`dñWmnH$mMr ŵ{_H$m gm§Jm.
[8]

~) B-{dnUZmÀ`m ì`m»`m gm§JyZ B-{dnUZmÀ`m _`m©Xm gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) {S>{OQ>b {dnUZmMr ì`m»`m gm§JwZ nma§nm[aH$ {dnUZ d {S>{OQ>b {dnUZ `m_Yrb
\$aH$ gm§Jm. [8]

~) Am§Vaamï´>r` {dnUZmMm AW© gm§JwZ Am§Vaamï´>r` {dnUZ à{H«$ òV AS>Wio {Z_m©U H$aUmao
KQ>H$ {bhm. [7]





Q1) A) Fill in the Blanks (Attempt any 5 out of 6) : [5]

i) Optimizing the use of farm resources on an individual farm level.
It is a _________.

a) Farm management b) Production Economics

c) Agricultural Marketing d) Macro Economics

ii) ________ is not a component of farm Business.

a) Land b) Capital

c) Labour and Management d) Air

iii) The active soil forming factor ________.

a) climate b) relief

c) organism d) climate and organism

iv) ICICI bank launched Internet Banking operations in ______.

a) 1998 b) 1999

c) 2000 d) 2015

v) The Foreign direct investment includes _________.

a) Intellectual properties b) Human resources

c) Tangible Goods d) Intangible good

vi) Investment by MNC is called _________.

a) Mutual Investment b) Intergovernmental Investment

c) Foreign Investment d) Portfolio Investment
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B) Match the following : [5]

i) Debenture a) Trade credit

ii) Short term finance b) Loan capital of Company

iii) Productivity c) Output per man hour of labour

iv) AGMARK d) DMI

v) Cash Crop e) Sugarcane

Q2) Write a short notes on (Any 2 out of 4) : [10]

a) Types of farming

b) Agricultural Insurance

c) Foreign Direct Investment

d) Importance of productivity in competitive environment.

Q3) a) What is Mean by Farm Management? Explain the scope and objectives
of farm management. [8]

b) Explain the nature of Risk and Uncertainty in Agriculture. [7]

Q4) a) Explain the sources of Industrial Finance. [8]

b) Explain the factors affecting on Industrial Productivity. [7]


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àíZ 1) A) [aH$må`m OmJr `mo½` eãX ^am. (6 n¡H$s H$moUVohr 5) [5]

i) ........... åhUOo d¡`{ŠVH$ nmVirda eoVr g§gmYZm§Mm n`m©á dmna H$aUo.

A) eoVr/H¥$fr ì`dñWmnZ ~) CËnmXZ AW©emñÌ

H$) H¥$fr {dnUZ S>) g_J« AW©emñÌ

ii) ............ hm eoVr ì`dgm`mVrb KQ>H$ Zmhr.

A) O_rZ ~) ^m§S>db

H$) H$m_Jma Am{U ì`dñWmnZ S>) hdm

iii) _mVr V`ma H$aÊ`m_Ü`o ........... ho gH«$s` KQ>H$ AmhoV.

A) hdm_mZ ~) ^m§S>db

H$) Ord S>) hdm_mZ Am{U Ord

iv) Am`grAm`grAm` ~±Ho$Zo B§Q>aZoQ> ~±H$s¨J ............ _Ü`o gwê$ Ho$bo.

A) 1998 ~) 1999

H$) 2000 S>) 2015

v) naH$s` WoQ> Jw§VdUwH$s_Ü`o ............ g_m{dï> Amho.

A) ~m¡{ÕH$ g§nXm ~) _mZdr g§gmYZo

H$) _wV© dñVy S>) A_wV© dñVy

vi) E_.EZ.gr (~hþamï>́r` H§$nÝ`m) Ûmao Ho$bobr Jw§VdUyH$ .............. åhUyZ AmoiIbr
OmVo.

A) nañna Jw§VdUyH$ ~) Am§VagaH$mar Jw§VdUyH$

H$) {dXoer Jw§VdUyH$ S>) nmoQ>©\$mo{bAmo Jw§VdUyH$

3 P.T.O.
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~) `mo½` OmoS>çm Owidm. [5]

i) {S>~|Ma A) ì`mnmar H$O©

ii) AënH$mbrZ {dÎm nwadR>m ~) H§$nZrgmR>r {Xbobo H$O© ^m§S>db

iii) CËnmXH$Vm H$) l_àVr _Zwî` Vmg CËnmXZ

iv) A°J_mH©$ S>) {S> E_ Am`

v) ZJXr {nH$> B) Cg

àíZ 2) {Q>nm {bhm. (4 n¡H$s H$moUË`mhr 2) [10]

A) eoVrMo àH$ma

~) eoVr {d_m

H$) naH$s` WoQ> Jw§VdUyH$ (FDI)

S>) ñnYm©Ë_H$ dmVmdaUmV CËnmXH$VoMo _hËd

àíZ 3) A) eoVr ì`dñWmnZ åhUOo H$m`? eoVr ì`dñWmnZmMr ì`már Am{U C{Ôï>ço ñnï> H$am. [8]

~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVVoMo ñdê$n ñnï> H$am. [7]

àíZ 4) A) Am¡Úmo{JH$ {dÎmmMo {d{dY ñÌmoV ñnï> H$am. [8]

~) Am¡Úmo{JH$ CËnmXH$Voda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [7]





Q1) Attempt any five of the following. [5 × 2 = 10]

a) Write the merits of peace time economics.

b) Write the merits of the war time economy.

c) State the concept of war finance.

d) Define third world countries.

e) State the role of the department of Defence production.

f) Define war time economy.

Q2) Attempt any four of the following. [4 × 5 = 20]

a) Demerits of peace time economy

b) War potential

c) Arms production

d) Rationing

e) Demerits of war time economy
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) State the concept of war potential.

b) Explain the role of the department of defence expenditure.

c) Explain source of finance.

d) Explain third world countries meaning and concept.

e) Explain military industrialization.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain recent trends in Indian defence expenditure.

b) Explain in detail the industrial power of India.

c) Explain in detail determinants of defence expenditure.


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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) em§VVm H$mbrZ AW©ì¶dñWoMo JwU {bhm.

~) ¶wÕH$mbrZ AW©ì¶dñWoMo JwU {bhm.

H$) dm°a ’$m¶ZmÝg g§H$ënZm gm§Jm.

S>) {Vgè¶m OJmVrb amï´> ì¶m»¶m Úm.

B) g§ajU CËnmXZ {d^mJmMr ŷ{‘H$m gm§Jm.

’$) ¶wÕH$mbrZ AW©ì¶dñWm ì¶m»¶m Úm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) em§VVm H$mbrZ AW©ì¶dñWoMo Xmof

~) ¶wÕ J{V‘mZVm

H$) eómóo CËnmXZ

S>) aoeqZJ

B) ¶wÕH$mbrZ AW©ì¶dñWoMo Xmof

3 P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ¶wÕ JVr‘mZVoMr g§H$ënZm gm§Jm.

~) g§ajU IM© {d^mJmMr ŷ{‘H$m ñnï> H$am.

H$) gmog© Am°’$ ’$m¶ZmÝg ñnï> H$am.

S>) {Vgè¶m OJmVrb amï´> AW© Am{U g§H$ënZm ñnï> H$am.

B) bîH$ar Am¡ÚmoJrH$aU ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU IMm©Mo ZdrZ àdmh ñnï> H$am.

~) ^maVmMr Am¡Úmo{JH$ eº$s g{dñVa ñnï> H$am.

H$) g§ajU IMm©Mo KQ>H$ g{dñVa ñnï> H$am.





Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [5]
i) A person who moves from one location to another is known as

______.
a) Tourist
b) Traveller
c) Inbound tourist

ii) The process of selling of a product through publicity is called
________
a) Marketing
b) Segmentation
c) Advertisement

iii) Internal tourism includes ______.
a) Domestic & Inbound
b) Inbound
c) Domestic

iv) The first tourism policy was implemented ___________.
a) 1980
b) 1982
c) 1984
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v) Which is the most important economic benefit of tourism
a) Increase in employment
b) Increase in production
c) Foreign exchange

vi) World Travel & Tourism Council (WTTC) was established in
_______.
a) 1988
b) 1989
c) 1990

B) Match the following : [5]
Column A Column B

i) Argo Tourism a) Indian Air Transport Association
ii) Insurance b) Means to reduce risk
iii) Air Transport c) Rural Tourism
iv) IATA d) New Delhi
v) Capital of India e) Fast mode of Transport

Q2) Write short notes (any two) : [10]
a) Concept of Tourism
b) Inter Religion Tourism
c) Tourism Infrastructure Development
d) Educational Tourism

Q3) a) Explain the types of Tourism. [8]
b) State the Cultural Tourism in details. [7]

Q4) a) Challenges before India Tourism Sector. [8]
b) Explain the Economics Impact of Tourism. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË`mhr nmM) [5]
i) EH$m {R>H$mUmhÿZ Xþgè`m {R>H$mUr OmUmar ì`ŠVr ....... åhUyZ AmoiIbr OmVo.

A) n`©Q>H$
~) àdmgr
H$) A§VJm©_r n ©̀Q>H$

ii) à{gX²YrX²dmao CËnmXZmMr {dH«$s H$aÊ`mÀ`m à{H«$ òbm ........ åhUVmV.
A) {dnUZ
~) {d^mOZ
H$) Om{hamV

iii) A§VJ©V n ©̀Q>Zm_Ü ò ......... g_m{dï> Amho.
A) Xoem§VJ©V Am{U A§VJm©_r
~) A§VJm©_r
H$) Xoem§VJ©V

iv) n{hbo n ©̀Q>Z YmoaU ............ gmbr - bmJy H$aÊ`mV Ambo.
A) 1980
~) 1982
H$) 1984

v) n ©̀Q>ZmMm gdm©V _hËdmMm Am{W©H$ \$m`Xm H$moUVm Amho?
A) amoOJmamV dmT>
~) CËnmXZmV dmT>
H$) naH$s` MbZ

P.T.O.



[6142]-316 4

vi) OmJ{VH$ àdmg Am{U n ©̀Q>Z n[afX (WTTC) Mr ñWmnZm ....... _Ü ò Pmbr.

A) 1988

~) 1989

H$) 1990

~) `mo½`m OmoS²>`m Owidm. [5]
aH$mZm A aH$mZm ~

i) H¥${f n ©̀Q>Z A) B§{S>`Z EAa Q´>mÝgnmoQ>© Agmo{gEeZ

ii) {d_m ~) åhUOo OmoIr_ H$_r H$aUo

iii) hdmB© dmhVyH$ H$) J«m_rU n ©̀Q>Z

iv) AmB©.E.Q>r.E S>) Zdr {X„r

v) ^maVmMr amOYmZr B) ObX dmhVyH$ _moS>

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) [10]
A) n ©̀Q>ZmMr g§H$ënZm

~) Am§VaY_u` n ©̀Q>Z

H$) n ©̀Q>Z nm`m ŷV gw{dYm§Mm {dH$mg

S>) e¡j{UH$ n ©̀Q>Z

àíZ àíZ àíZ àíZ àíZ 3) A) n`©Q>ZmMo àH$ma ñnï> H$am. [8]
~) gm§ñH¥${VH$ n`©Q>Z Vnerbdma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVmÀ`m n ©̀Q>Z joÌmnwT>rb AmìhmZo. [8]
~) n ©̀Q>ZmMm AW©emór` n[aUm_ ñnï> H$am. [7]





Q1) A) Fill in the blanks (Any five) : [5]

i) RDBMS stands for _________.

a) Relational Database Manager System

b) Rational Database Manager System

c) Relational Database Manager System

d) Relational Database Management System

ii) __________ SQL commands are used for creating, modifying
and dropping the structure of database.

a) DML b) DDL

c) DCL d) TCL

iii) The ________ constraint identifies each record uniquely in the
database table.

a) NOT NULL b) UNIQUE

c) CHECK d) DEFAULT

iv) __________ operator is used to compare a column value within
definite range.

a) IN b) BETWEEN

c) AND d) LIKE
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v) ________ generates a result set that shows aggregates for all
combinations of values in the selected columns.

a) ROLLUP b) CUBE

c) UNION d) INTERSECT

vi) __________ function totals the values in a Numeric columns.

a) Count( ) b) avg( )

c) Sum( ) d) Max( )

B) Match the following : [5]

Group A Group B

i) INSERT command a) Deletes table structure

ii) Delete command b) Display records

iii) Update command c) Create record

iv) Select command d) Modifies records

v) Drop command e) Deletes records

Q2) Answer the following questions : [15]

a) What is data, information and file?

b) Explain importance of DBMS.

c) What is primary and foreign key?

Q3) Answer the following questions : [15]

a) How SQL commands are classified.

b) Explain DDL commands of SQL.

c) What is constraint? Write an CHECK constraint.

Q4) Answer the following questions : [15]

a) What is view? Explain it’s importance?

b) Explain any five scalar functions with example.

c) Write an group by having clause.
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Q5) Answer the following questions : [15]

a) Explain SET operators in detail.

b) What is JOIN? Explain any one Join.

c) Write an ROLLUP operator.

Q6) Write short note on following (any 3) : [15]

a) ADO. NET.

b) Advantages of RDBMS.

c) System Privileges

d) Index

e) Scalar subqueries


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Q1) A) Fill in the Blanks. [5]
a) ________ is the characteristics of Information

i) Data ii) Accuracy
iii) Storage iv) Raw fact

b) MIS is stands for ________
i) Management Innovation System
ii) Managerial Information System
iii) Management Information System
iv) Management Incubation System

c) The following _______ is an attribute of a DSS.
i) Database
ii) Efficiency and Effectiveness
iii) Information
iv) Cell

d) _______ is an important factor of a management information system.
i) Personal ii) Planning
iii) Information iv) System

e) _________ is the benefit of DSS
i) Data access
ii) Improve speed of decision making
iii) Manage Information
iv) Less data

P.T.O.
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B) Match the Pairs. [5]
a) MIS i) Supports and integrate all

functions of Business
b) Data ii) DSS
c) ERP iii) Strategic Level of

Organization
d) Easy Decision iv) Management Information

System
e) ESS v) Component of

Information

Q2) Write short note on the following (Any two) [10]

a) Types of DSS

b) Scope of ERP

c) Features of ESS

Q3) Answer the following (Any four) [20]

a) What is executive support system features?

b) Differentiate between Information and Data.

c) State the various objectives of MIS.

d) What are the disadvantages of Executive Support System?

e) How Management Information System is useful for business organization?
Explain

Q4) Answer the following Question (Any one) [10]

a) What is Decision Support System? Explain its characteristics.

b) Explain briefly ERP? What are the advantages of ERP?


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Q1) A) Fill in the Blanks. [5]

a) The concept of marketing mix is first coined by

i) James Culliton ii) Jerom Mc Carthy

iii) Philip Kotler iv) Maslow

b) In AIDAS, D stands for

i) Demand ii) Desire

iii) Demat iv) Demography

c) The strategy of using a name, logo, sign, symbol or design, etc. to
help consumers identify a product or service and also differentiate it
from competitors is called __________.

i) Umbrella branding ii) Branding

iii) Mega branding iv) Co-branding

d) Free samples, coupons, discount, sale _________ these are the
examples of ________

i) Advertising ii) Personal selling

iii) Sales Promotion iv) Publicity

e) Social media advertising includes ________

i) Web advertising ii) Facebook

iii) Instagram iv) All of the above

P.T.O.
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B) Match the following. [5]
A B

a) Marketing Mix i) Twitter
b) Brand ii) Place mix
c) Social media iii) 4 P’s
d) Channel of distribution iv) Sales Promotion
e) Free sample v) Apple

Q2) Short Notes. (Any 2) [10]

a) Digital Marketing Mix.

b) Elements of Promotion mix.

c) Characteristics of Branding.

Q3) Answer the following. (Any 4) [20]

a) What are the elements of place mix?

b) Write techniques of Online sales promotion.

c) Write a note on AIDAS.

d) Write importance of marketing mix.

e) Write a note on impact of social media advertising.

Q4) Answer the following question. (Any one) [10]

a) What do you mean by Brand positioning. Explain with examples.

b) Write a detail note on recent media trends.


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Q1) A) State following statements are true of false (any 5) [5]
a) Advance tax is to be paid in 2 instalments.
b) Maximum interest allowable on partners’ capital is 12%.
c) Certain domestic companies can opt speical rate of 25%.
d) Speculation loss can be carry forward for 4 years only.
e) Apex Appealing income tax authority is CBDT.
f) Maximum penalty in case of failure to get books of account audited

under section 44AB of Income Tax Act is Rs. 1,50,000.

B) Fill in the blanks (any 5) [5]
a) Provision of inter source is given under following section _____

(Section 70, Section71, Section 72, Section 73)
b) Minor child income is clubbed in the income of _______

(Mother, Father, Guardian, Parents whose GTI is higher)
c) Rate of income tax for partnership firm is ________

(20%, 35%, 40%, 30%)
d) Return whom to be verified is given under following section ______

(140, 140A, 139(1), 141AA)
e) Basic exemption limit for company is ______

(Rs. 10,000, Rs. 2,00,000, Rs. 2,50,000,  NIL)
f) Provision regarding default in payment of advance tax is given under

following section________
(Section 234A, Section 234B, Section 234C, Section 234F)

P.T.O.
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Q2) Write short notes on (Any 2) [10]
a) Provision of return whom to be verified.
b) Tax deducted at source u/c 194J.
c) Provisions for carry forward and set of Non speculation business loss.
d) Interest for deferment in payment of Income taxs.

Q3) a) Types of returns under income tax Act. [8]
b) Various income tax authorities under income tax Act. [7]

Q4) Explain the following provisions related to Company. [15]
a) Book Profit
b) Minimum alternate tax
c) Tax rates applicable to various companies.

Q5) Following is the Profit and Loss account of MD and Co. (a partnership firm)
for the year ending 31-3-2023 is as follows: [15]
Particulars Amount Rs. Particulars Amount Rs.
Cost of goods sold 12,00,000 Sales 20,00,000
Remuneration to partners 4,49,000 Rent of house

property 60,000
Interest to partners @ 18% p.a. 60,000 Dividend 2,70,000
Municipal tax of house property 25,000
Other expenses 2,36,000
Net Profit 3,60,000
Total  23,30,000 Total 23,30,000
Other information:
a) Out of the other expenses, Rs. 18,400 is not deductible u/s 36, 37(1)

and 43B
b) On 15-1-2023, the firm pays an outstanding GST liability of Rs. 54,700

of the previous year 2021-22. As this amount pertains to the previous
year 2021-22, it has not been debited to the aforesaid Profit and Loss
account. Compute the income from business of the MD and Co. for the
AY 2023-24 assuming that the firm does not opt for presumptive taxation
scheme.


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Q1) A) Fill in the Blanks : [5]

i) HTML defines ________ levels of heading.

a) 1 b) 2

c) 4 d) 6

ii) Which of the following tag is used for making the text italic in HTML?

a) <it> b) <itl>

c) <i> d) <italic>

iii) Which attribute of the body tag is used to display background color?

a) Background b) bgcolor

c) backcolor d) bcolor

iv) All HTML tags are enclosed in_________

a) # # b) < >

c) { } d) “ ”

v) In which HTML element, we put the JavaScript code?

a) <javascript>...</javascript> b) <js>...</js>

c) <script>...</script> d) <css>. . .</css>

SEAT No. :
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B) Match the following : [5]

i) <a> a) Attribute used to specify font of text

ii) While b) Sequential form of information

iii) <hr> c) tag used to add links to your pages

iv) Face d) JavaScript loop

v) Ordered list e) Horizontal rule in HTML document

Q2) Write Short Note on (Any two) : [10]

a) Table tag in HTML

b) Variables used in JavaScript

c) Heading tags in HTML

d) For loop in JavaScript

Q3) Answer the following (Any FOUR) [20]

a) Explain any four Formatting tags in HTML.

b) What is hyperlink? How hyperlink is created in HTML?

c) How images are inserted in HTML? Explain image tag with syntax and
example.

d) Define Array. How to create Array in JavaScript?

e) What are JavaScript Identifiers?

Q4) Answer the following (Any ONE) [10]

a) Explain ordered and unordered list tag in HTML with syntax and example.

b) Explain Arithmetic and comparison operators in JavaScript with example.





Q1) A) Fill in the blank. [5]

i) The stages through which individual product develop over period
of time is known as _______.

a) product life cycle

b) product like cycle

c) product development cycle

d) Product image cycle

ii) In maturity stage of product life cycle cost of marketing is ______.

a) very high b) very low

c) moderate d) not known

iii) In process of selling searching for new customers known as

a) Ideageneration b) Pre approach

c) Marketing d) Prospecting

iv) _________ are emotions behind purchase of products.

a) Buying motives b) Selling motives

c) Marketing decisions d) Bargaining motives
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[Total No. of Pages : 2

[6142]-322
S.Y. B.Com. (Vocational)

PERSONAL SELLING AND SALESMANSHIP
246(B) : Advertising, Sales Promotion and Sales Management - II

(2019 Pattern) (CBCS) (Semester - IV) (Paper - IV)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P-5881
SEAT No. :

P.T.O.



[6142]-322 2

v) This is most used medium for social marketing.
a) WhatsApp b) email
c) letter d) Website

B) Match the pair. [5]
i) Primary Packaging a) wholesaler
ii) Secondary packaging b) Fanta
iii) It is specific name, picture c) Brand

or design
iv) Sales volume high but d) Buying motives

increasing
v) Love and affection e) Growth stage

Q2) Write short note on (any 2) : [10]
a) Branding of product
b) Types of customers
c) Emotional buying motives
d) Decline stage of PLC

Q3) Answer the following (any 4) : [20]
a) Packaging and labelling of product
b) Rational buying Motives.
c) Introduction stage of PLC
d) Need and importance of understanding of buying motives
e) Direct Marketing
f) Patronage Buying Motives

Q4) Answer the following (any 1) : [10]
a) Explain in detail process of selling.
b) Write detail note on Recent developments in marketing.





Q1) A) State whether the following statement is TRUE or FALSE : [5]

i) The credit on capital goods can be taken immediately on receipt
of the goods.

ii) The Input tax credit on capital goods and Inputs can be availed in
multiple instalments.

iii) The time limit to pay the value of supply with taxes to avail the
input tax credit is 120 days.

iv) The definition of Inputs includes capital goods.

v) The responsibility to compute the correct tax liability lies with the
assessee.

B) Choose correct answer (Any Five) : [5]

i) Which of the following are not required to file the Annual Return?

a) Input Service Distributor b) Casual Taxable Person

c) Non-resident Taxpayer d) All of the above

ii) Composition taxpayer is required to file return in Form no _____.

a) GSTR-l b) GSTR-2

c) GSTR-4 d) GSTR-12
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iii) A registered person whose aggregate turnover during a FY exceeds
INR 2 crores is required to file which of the following documents.

a) Annual Return

b) Audited annual accounts

c) A Reconciliation Statement, duly certified, in prescribed form.

d) All of the above

iv) The due date for filing GSTR-3B is on ______ day of the next
month.

a) 5th day b) 15th day

c) 25th day d) 20th day

v) On or before _______ day of the immediately succeeding month
is the due date for submission of monthly GSTR- 1.

a) 10th day b) 20th day

c) 25th day d) 30th day

vi) _________ is the time limit to pay the value of supply with taxes
to avail the input tax credit.

a) 90 days b) 100 days

c) 120 days d) 180 days

Q2) Write Short Notes (Any Two) : [10]

a) Output tax credit

b) Vouchers under GST

c) FORM GSTR-2A

d) E-Way Bill

Q3) Answer the following questions (Any Four) : [20]

a) What is Removal?

b) What is an electronic credit ledger?

c) What should be the contents of a tax invoice?

d) What are the contents of a ‘Bill of Supply’?

e) What are the contents of Debit Notes?

f) What are the Contents of invoices issued by ISD?
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Q4) Answer any One of the following questions : [10]

a) What is the Procedure for e-filling of GST Returns?

b) What are the different types of assessment under GST?


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Q1) Attempt any FIVE of the following.

a) Define sustainable Development. [1]

b) Write any 2 treatment system used to treat waste water. [1]

c) Which pollutant is responsible to cause Minamata Disease? [1]

d) What is the main reason of Narmada Bachao Andolan? [1]

e) At which range of richter scale dose the Earthquake have major
Destruction. [1]

f) Which gases are termed as Green House gases. [1]

Q2) Answer the following.

a) Explain - “Environment Education is the need for conservation &
Protection of Environment”. [6]

b) Define Nuclear Hazard. What are source and effects of Radioactivity.[4]

Q3) Answer the following.

a) Discuss with the help of example about resettlement issue due to
developmental activity. [6]

b) What are the adverse effect of Air pollution and different aspects of
Environment. [4]

[Total No. of Pages : 4
SEAT No. :

P.T.O.



2[6142]-324

Q4) Answer the following.

a) Explain about rooftop Rainwater harvesting with neat labelled diagram.[6]

b) Discuss various practices adopted for wasteland redamation. [4]

Q5) Write a short note on Any Four of the following. [10]

a) Incineration. [2½]

b) Cyclone. [2½]

c) Ozone Layer Depletion. [2½]

d) CNG vehicles. [2½]

e) Indian culture & Environment. [2½]

f) Environmental Movements. [2½]


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doi : 2 Vmg] [ EHy$U JwU : 35
gyMZm …- 1) àíZ H«$. 1 A{Zdm¶© Amho.

2) àíZ H«$. 2 Vo àíZ H« . 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) àíZ H« . 2 Vo 5 g‘mZ JwU AmhoV.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm.

A) emídV {dH$mgmMr ì¶m»¶m {bhm. [1]

~) gm§S>nmÊ¶mda à{H«$¶m H$aÊ¶mgmR>r dmnabobr H$moUVrhr 2 à{H«$¶m {bhm. [1]

H$) {‘Zm‘mQ>m amoJ hmoÊ¶mg H$moUVo àXþfH$ O~m~Xma Amho. [1]

S>) Z‘©Xm ~Mmd Am§XmobZmMo ‘w»¶ H$maU H$m¶ Amho? [1]

B) [aíQ>a ñHo$bÀ¶m H$moUË¶m loUrV ŷH§$nmMr Vrd«Vm OmñV AgVo? [1]

’$) H$moUË¶m dm¶w§Zm h[aVJ¥h dm¶y åhUVmV? [1]

à.à.à.à.à.2) Imbrbn¡H$s CÎmao Úm.

A) n¶m©daU {ejU hr n¶m©daUmMo g§dY©Z Am{U g§ajU H$aÊ¶mMr JaO Amho ñnï> H$am. [6]

~) AmpÊdH$ YmoHo$ n[a^m{fV H$am. {H$aUmoËgJuVmMo ómoV Am{U à^md H$m¶ Amho? [4]

à.à.à.à.à.3) Imbrbn¡H$s CÎmao Úm.

A) {dH$mgmË‘H$ {H«$¶mH$bmnm§‘wio nwZñWm©nZm g‘ñ¶o~X²Xb CXmhaUmÀ¶m ‘XVrZo MMm© H$am. [6]

~) dm¶y àXÿfUmMm n¶m©daUmÀ¶m {d{dY n¡by§da H$m¶ {dnarV n[aUm‘ hmoVmo? [4]
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à.à.à.à.à.4) Imbrbn¡H$s CÎmao Úm.

A) N>Vmdarb aoZ dm°Q>a hmd}pñQ>¨J ~X²Xb bo~b Ho$boË¶m AmH¥$Vrgh ñnï> H$am. [6]

~) nS>rH$ O{‘ZrÀ¶m nyZd©gZmgmR>r Adb§~boë¶m ‘hÎdmÀ¶m nÕVtda MMm© H$am. [4]

à.à.à.à.à.5) Imbrbn¡H$s H$moUË¶mhr Mma da {Q>nm {bhm. [10]

A) BpÝgZa¡eZ [2½]

~) MH«$sdmXi [2½]

H$) AmoPmoZMm Wa H$‘r hmoUo [2½]

S>) gr EZ Or dmhZo [2½]
B) ^maVr¶ g§ñH¥$Vr Am{U n¶m©daU [2½]
’$) n¶m©daUr¶ Midi [2½]


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